MO

=

HE MH:

QIHIM ZHXE 5H Elo 2 Q5 &= Ix[7} Hets WS & x|5Hok
5te 20| AFSELICH HY EEE 522 Z040F0HCHE EZE {R|

= 0|E°* = A&
YAlztol A &= 2l Eo{of ot &= Elo| BtS S W8l of st=
B0l Bt C == Bt DE Ar8sHok #LCt.

THE:

2B HT:

LIAt &21E, A

&2 El1.4305.

AHQIZ[A AR HT:
x

LtAb 22|12 S &3 £ 1.4305.

Ol BME, PItLd X

#EH 0172

AR HH

a2 T, getEx| g

LA &2|E, 4 T8 E|

o= =383

AHQIYA AE! B{H:

gzt Mel=lx] ete #a

LB RE 2

g5

YA A XIGE 20 ZH ESE ESHAAIR

2’3 Al:

RHEACIE AERIL 7t

=H 49

Bl A &2 &% 918, §=2 HE 98

EtelB: &= &% 015, #23 LE US
A C: HE &% (s, §#2 HE 88

Bl D: HE X U5 B3 HEUS

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



K2047_

°
b N e A ci= AE]IO A AElI =Z3LA ol 2 Ir
e SE 43 = AHI2I2|A A8 S2fAE] ofd3l &F0] E
gt 8"
=M
© A
wr By
s d
‘ 1
|
N I 1
) |
'
l . SW1
~ h [}
! T
A ! |
5|2 | | |
\ | W '
y» : i
Dy
D1
Z= Q0
FEHS Et EA xE TEE MY D DI A B L L1L2L3 AE SWI1Fx30° AlEF ENH ZAESF
o 23 Btd ZE max.Nm
S F1 F2
o N 92N
K2047.0304080 C AE ZE[MRAL7021 4 M8 205,34451523,813 4 8 1 6 12 2
K2047.0315100 C e HS|MRAL7021 5 M10 2567 52,21728,515 5 10 13 6 12 7
K2047.0326120 C AE ZHE|MRAL7021 6 M12 30 8 61,720 34 17 6 12 18 8 15 15
K2047.0338160 C AE HE|MRAL7021 8 M16 4010,7 81 2645323 8 16 23 8 19 20
K2047.0304081 C AE HS|M RAL7021 4 M8x1 2053 44,51523,813 4 8 1 6 12 2
K2047.0315101 C AE ZHE|M RAL7021 5 M10x1 25 6,7 52,21728,515 5 10 13 6 12 7
K2047.0326121 C AE Az RAL 7021 6M12x1,530 8 61,720 34 17 6 12 1.8 8 15 15
K2047.0338161 C AE H3|AM RAL 7021 8M16x1,54010,7 81 2645323 8 16 23 8 19 20
K2047.030408084 C AE AMEE WZ RAL30204 M8 2053 44,51523,813 4 8 1 6 12 2
K2047.031510084 C AE s S WZ RAL30205 M10 256,7 52,21728,515 5 10 13 6 12 7
K2047.032612084 C A8 MES WZ RAL30206 M12 30 8 61,720 34 17 6 12 18 8 15 15
K2047.033816084 C AE AEE Z RAL3020 8 M16 4010,7 81 2645323 8 16 23 8 19 20
K2047.030408184 C AE AS S Wz RAL 3020 4 M8x1 20 5,3 44,51523,813 4 8 1 6 12 2
K2047.031510184 C AE AES WZ RAL 3020 5 M10x1 25 6,7 52,21728,515 5 10 13 6 12 7
K2047.032612184 C AE A= S Z RAL 3020 6 M12x1,530 8 61,720 34 17 6 12 18 8 15 15
K2047.033816184 C AE £35S ¥WZ RAL 3020 8 M16x1,54010,7 81 2645323 8 16 23 8 19 20
K2047.1304080 C AE|QIBA AR HS|MRAL7021 4 M8 2053 4451523813 4 8 1 6 12 2
K2047.1315100 C AEIQEA AR HEMRAL7021 5 M10 256,7 5221728515 5 10 13 6 12 7
K2047.1326120 C AE|QlBA AR ZHSMRAL7021 6 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
K2047.1338160 C AE|QBA AR ZHS|MRAL7021 8 M16 4010,7 81 2645323 8 16 23 8 19 20
K2047.1304081 C AEIQBA AR HEMRAL7021 4 M8x1 2053 44,51523,813 4 8 1 6 12 2
K2047.1315101 C AE|QEA AR HSMRAL7021 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
K2047.1326121 C AE|QEA AR HSMRAL7021 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
K2047.1338161 C AH|QIEA AR ZHFAM RAL7021 8M16x1,54010,7 81 2645323 8 16 23 8 19 20
K2047.130408084 C AH|QIB|A AR MSS Wz RAL30204 M8 2053 44,51523,813 4 8 1 6 12 2
K2047.131510084 C 2AH|QIE|A AR MSS #ZF RAL30205 M10 2567 52,21728,515 5 10 13 6 12 7
K2047.132612084 C 2AE[QIE|A AR MSS WZ RAL30206 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
K2047.133816084 C AE(QIEA ARl (S S W2 RAL30208 M16 4010,7 81 2645323 8 16 23 8 19 20
K2047.130408184 C AHIQIE|A AR AMS S 2z RAL 3020 4 M8x1 20 5,3 44,51523,813 4 8 1 6 12 2
K2047.131510184 C 2E[QIB|A AR AMS S Wz RAL 3020 5 M10x1 25 6,7 52,21728,515 5 10 13 6 12 7
K2047.132612184 C AE|QEA AR (S S Wz RAL 3020 6 M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
K2047.133816184 C AHIQIE|A ARl AMS S Wz RAL 3020 8 M16x1,54010,7 81 2645323 8 16 23 8 19 20
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/3



K2047_C

AT EE 28 EE A
8, C8
£S5 29

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



